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NAE2H HEHE AAX 8 A 58,000, 000& *14] 58,000
=3AL 22l 2d 3,118,303 1,420,683 1,697,620
101 @121 29,500 29,500 0
04 JI2ZtH22XNHEE =+ 29,500 29,500 0
NEFHA ZHI22E 222 (Hx=MHA S
50,000& x40 8 16,000
NEZIAF ZF B2 222 (u=x)
150,000& *30 *3H 13,500
201 LEt2 Y| 733,243 792,443 259,200
01 At 22l Yl 65,609 72,809 AT,200
1) Bt 2| 58,009
2) St&Al &K P 45,0003 *6box*12& 3,240




M M2

o HA2Y L TRUN 22

& SRIME 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2) StEA SHEEE ¢ 330,000& x12& 3,960
2) st& A 2EH WA 200,000 x243| 4,800
2) 2N 2222 2 1,500,000& »12& 18,000
2) 2FA B0 E 33 2
1,800,000& »10& 18,000
2) 22 HE HIIAAM 3,300,000 =1CH 3,300
2) M=Zx Y& FIIZA 4,000&*177E 23] 1,416
2) JtAHH EHE ZHIIZA 150, 000& »2CH 300
2) AUHUFHY 11,664 m »428 2 4,993
I = bl 7,600
2) A ZE 225 200,000& 23| «19YH 7,600
02 3322l 667,634 719,634 252,000
N3223 2 HMA 284,062
2)2F A HMIIMNEE 190,000, 000& 190,000
2)2HA VA E 8,800 x36CH x12J1 & 3,802
Q)2 A Hotx=E MEEZ
4,000,000 1201 & 48,000
)2 A 2HEMARL S 1,850,000 «H 23 3,700
2Q)2FA DEKRLREYS 1,600,000 A 13 1,600
)28 A HIISMel ==&
800,000& 1201 & 9,600
2)2F A HSx =N 3,000,000& = 13 3,000
2)2 & A JIHEH =481 5,000,000 *14] 5,000
2)d2=I] Il M& =48]
3,000,000% »2CH 6,000
2)Z AL dBratel ] 180,000 1200 & 2,160
2)ZA TAIIAH L RAYE AER
150,000 1200 & 1,800
2)SHEAN HIIQM A2
200,000 *47H 2= 9,400
A = 120,000
2)2HA JAANES 10,000,000 1200 & 120,000
DAIE &4l X4 263,572
Q)2 A RAES 11,664m x3,000& 34,992
)2 AN 2| FAZL Y
1,300,000& »12& 15,600
Q)2 A HF3tE gAe 89
420,000& x12& 5,040
Q)2 AN A=SEH 850,000& x6& 5,100
)2 A 2¥3 HAEH
1,420,000& = 23] 2,840
2)2FA HAEY 200,000,000 » 14! 200,000
401 Al HIZ 2 048I 2,355,560 598,740 1,756,820
01 A& HI 2,318,000 598,740 1,719,260




M M2

o HA2Y L TRUN 22

&S SR ;:FEI (cho &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEYHAY =4 ASSAHLH, X, Ex)
700,000,000& 3 =& 2,100,000
NSSEAM L TS HES
12,000,000& =144 168,000
NEY FA HI&ZHEI| 4X
25,000,000& 204 & 50,000
02 Zteltl 30,000 0 30,000
NEH MNEA=A MEI A 2l
10,000,000& *3H S & 30,000
03 AlE R THHI 7,560 0 7,560
1)Se HAS4 NETA 2O
2,100,000,000%0.36% 7,560
2L (MRS AH D) 45,134,034 41,788,573 3,345,461
= 157,500
s 44,976,534
Jl=&dl 66,120 64,180 1,940
Jl=dl 66,120 64,180 1,940
201 Let24d] 10,800 12,580 21,780
01 At 22/l 10,800 12,580 A1,780
1) B2 | 10,800
2)F N9 A2l 300,000& =36H 10,800
202 odl 14,400 11,100 3,300
01 S LHOIYI 14,400 11,100 3,300
NENMSY IO 50,0003 36 +83| 14,400
203 YR =&l 40,920 40,500 420
01 /1228 =4H 36,300 36,300 0
Nezs 4228 3,025,000& x12& 36,300
04 FN2IELSZ=AH 4,620 4,200 420
NASI AL 22 385,000 128 4,620
el 2l 45,067,914 41,724,393 3,343,521
= 157,500
i 44,910,414
QrE2H A 45,067,914 41,724,393 3,343,521
= 157,500
s 44,910,414
101 @124l 43,496,154 40,209,393 3,286,761
= 157,500
[ia 43,338,654
01 2= 36,465,321 33,591,049 2,874,272
NE2A (1Y) 79,724,000 79,724
NesHMOg) 80,357,670& 80,358
1A (657H) 22,068,978
2)42 (285 8) 4,570,900 x4H <123 219,404




2A:
DY 2YEH (MR D)

el

X ZH
S =

NI 3l H Dt

D o
el 2l

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
2)5=2 (308 8) 4,238,100& x34H x 128 1,729,145
2)62 (205 8) 3,304,400& «188H 123 7,454,727
2)72 (208 8) 2,994,100& x195H 123 7,006,194
2)82 (115 8) 2,190,000 *124H 122 3,258,720
2)9=2 (8 8) 1,786,300& x112H x12& 2,400,788

= 157,500
[ 2,243,288
DX &% (38Y) 1,442,368
Q)N 2 (2258) 4,648, 1003 x3H « 128 167,332
2) NS AH2088) 3,035,800& x35H x12& 1,275,036
122 (5%) 154,627
2)H2AH(13E8) 2,577, 110& x5H 123 154,627
12016 B4 OIAR 42,503,486,000& *3% 1,275,105
DAt 22+ 1,658,820
2)52 12, 110& x 10 x12& »20 Al 2t 29,064
2)63 10,330 x100H 12 20 Al 2t 247,920
2)7= 9,330 x 100 x12& x20 Al 2+ 223,920
2)8= 8,370 100 128 «20 Al 2+ 200,880
2)9= 7,5703 «100 »12& «20 Al 2+ 181,680
2)53 Jl& 12, 110 x34H « 12 10 2t 49,409
2)6=2 Il 10,3303 x188H x12& » 10A| 2t 233,045
)73 Jle 9,330& x195H «12& «10Al 2t 218,322
2)82 Jl& 8,370 * 124« 12& «10Al 2+ 124,546
2)92 JI= 7,5703 A+ 112H 128 «10Al 2+ 101,741
)X &2 J|=2 11,930& x3H x12& «10Al 2¢ 4,295
)X A D12 9, 1403 «35H «12& = 10Al 2¢ 38,388
2)H A D=2 9,350 x5 x12& «10Al 2+ 5,610
Nis< 623,746
2) Ui 2 Xt 40,000 =653 «12& *0.75 235,080
2)JEILE 20,0003 «653H *x12& +1.8 282,096
2)Jtar3 80,000 *653H «12& 0. 17 106,570
NAESHEX ¢ 225,792
2)1Ss&HM 448,000 126 H «42 J| 225,792
NE2SYoHe3 650,640
2)5H 014 100l 8¢ 50,000& «145H <128 87,000
2)104 0l & 1540l ¢t 60,0003 x39Y x12& 28,080
2)15= 014 2040l 80,0003 «137H 128 131,520
2)20E 0] & 25 0 gt 110,000& *130H x 12& 171,600
2)25 0] & 130,000& x149H 123 232,440
NAg2La< 86,040
2)UE 50,0003 +77H 128 46,200
2)SB(B=2AU2 578 FDh)
40,0003 83 128 39,840




2A:
DY 2YEH (MR D)

el

X ZH
S =

NI 3l H Dt

D o
el 2l

SA-ZH () - HRAY - BES Off &4 %Ei Hwsz
DEEECE PN 50,0009« 10 12 6,000
NueslA+g 361,733

2)53(3052) 4,238, 1002 4. 10% 128 x6 Y 12,511
2)62 (205 2) 3,304,400 x4, 10%+ 122 06 H 156,074
2)72 (205 2)
2,994,1002 x4, 10% 122 116 170,880
2)Jls62 (275 )
3,608,700 *4. 10%+ 128 x2H 3,551
ANE 2 (25 E)
4,648, 1002 4, 10%* 128 « 1 2,287
)N EAH(2058)
3,085,8002 x4, 10%+ 128 112 16,430
DAY RLy 159,217
2B A 48,670,8002 *9/100 4,381
2)HH KA H 48,670,800 9/100 4,381
2)SE AT 48,670,800 %9/ 100 4,381
2)FRIMET| AT 48,670,800 *9/100 4,381
)= SMEAT 48,670,800 9/100 4,381
2)ME ANYUAE SHE
381,42091+302 « 12& 137,312
NE+2Lg 1,266,516
)= 167,520
3)52 014 50,0002 16 » 128 9,600
3)6~72 0l & 30,0002 *184% » 128 66,240
3)82 0| &t 20,0009 722 « 128 17,280
X2 60,0008 *3H « 128 2,160
3) X Z A 50,000 *35% » 128 21,000
3)Jtat2 51,240
4)21& A 50,0008 x 1% « 128 600
4)D1 Ak 30,0002 *84% » 128 30,240
4)&FH DI AL 20,0008 74 » 128 17,760
42 10,0002 *22% « 122 2,640
)9 zgRolsy 708,480
3)USH 350,000 «3% » 128 12,600
3)EFE 2HABY 350,000 #26H 128 109,200
3)o 2 I At 350,000 «9% » 128 37,800
3)F A 70,0008 x2H « 128 1,680
3NZEBAHAA (B AHAXI DO ALEE)
800,000« 14 * 12 134,400
3)BEEAAA (AN L)
800,000 «43H * 12 412,800
Q)P YRSLY 80,0002 x3H 128 2,880
)88 22+Y 6,612
3)62 ¥ Jls6a 32,0002 *3% « 128 1,152




M M2
M HHE2GAH (MRS AL

ool oz ey (el:de)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
72 € dlsT= 25,0003 x7H « 128 2,100
sz ¥ Jls8s= 20,0003 x14H «12& 3,360
Qts2d+g 40,000 x12H <123 5,760
)RR 30,0003 »46H «12& 16,560
2NN =< 20,0003 x1H « 128 240
)AL (SUANE2R) 18,144
N7z & JlsT2 38,000& x2H « 128 912
3)82 ¥ Jlss8= 36,0003 x2H 128 864
3)9= ¥ JIs9=2 34,0003 x1H « 128 408
3)ot+=S LRTAXR 120,000 x4+ 12 5,760
AT AREAL 50,0003 »8H =12 4,800
)2 HMel FRBAK
150,000 3 x12& 5,400
2)A A= (23 AR D) 9,840
3)52 80,000& x3H 12 2,880
3)6=2 60,0003 *3H » 122 2,160
372015 2 JsHB2
50,0003 »8H » 122 4,800
2)gH2Rd 70,0003 «320H «12& 268,800
2IMNBSXNE RS 61,680
NN =EXNL RS 70,0003 x58H «12& 48,720
R UNI=E=DNEE =] Pl =7
30,0003 x36H «12& 12,960
NEF+< 500,000 x6ZH «12& 36,000
NS4N224Y(SLINSHE 22AL, Hot4
S UHZ EZEE) 126,240
2)SX(R0l,HE, Hatx)
60,000 x11H «12& 7,920
)BAN(HE HEE 8, IHHE Kete, st
C,001%) 50,0003 x24H <123 14,400
2)SX (X, Hl, &, &, 0.4 & 23H)
40,000 «173F «12& 83,040
2)8 X (Y, 0 2EH) 30,000 x58H «12& 20,880
nNaz=sg 24,941,074,380&*0.9/12& 1,870,581
NngedaE+¢ 50,000%5*12 3,000
N HZ A 1,102,920
2Q)BRENZERE 130,000& x707H «12& 1,102,920
NYEFOty| 2,494,108
)EREBRY 24,941,074,380& x1.2/12 2,494,108
1) 2 AHHI 692,808
2)EREBRY
24,941,074 ,380& x1/12%1/30%10 692,808
02 JIEtA 2 == 737,650 1,082,220 A 344,570
Nz 533,112




M M2
M HHE2GAH (MRS AL

cel: o2 (sl &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Q)P E 2,524,200 «16H «12& 484,647
)8 2+¢ 484,646,400% *1.2/12 48,465
D=, 11,367
2) = Xt 40,0003 x16H +0. 78+ 12 5,991
2)J1EtO=E 20,0002 «16H 1.4+ 128 5,376
[DRAIER: =, 5,376
2)nsSstu 448,000 »3H 42 J| 5,376
NEI2s=¢ 16,560
2)20H 0] & 100,000 8 122 9,600
2)154 0l &~20& 0| &t 80,000& x5 128 4,800
2)10= 0l &~154 0] 2 60,0003 *3H 128 2,160
NEI2EIAZ 240,000 1204 & 2,880
DEE=PNES= 30,000 x11H 123 3,960
N syl 50,0002 x16H «12& 9,600
NABLL(HEZAE2LR)
40,0002 x16H «12& 7,680
NEF2LLY 31,007
DHAZE ANeDRag
7,4293 10 «20Al 2tx 1228 17,830
)AL E () 6,863 *16H*10Al2t+ 122 13,177
Ns=xz22s< 8,640
2)SEN(ET) 60,000& x4 128 2,880
Q)X (Y 8) 40,0003 x12H «128 5,760
DEE =R 130,000& 16 122 24,960
NEZE = 20,580
2)B Ma Y 140,000 18 122 1,680
)3 aE 105,000& 15« 12& 18,900
NYEF Oyl 484,646,400& +1.2/12 48,465
1) I 2 Al 484,646,400% «1/12%1/30%10 13,463
03 RIAHAZ2Z2RHE > 6,293,183 5,536, 124 757,059
etz 03 2,003,552
2123 1,770,360 418« 128 871,018
)03 399,217
3L ag 1,770,360 *41H x200% 145,170
NF2=+¢ 1,770,360 *41H x100% 72,585
)M e 1,770,360 41 x250% 181,462
)M~ 112,824
s 34,104
4) = Xt 40,0003 *28+12 13,440
4)J|EMINE 20,0003 *41%2.1%12 20,664
JNE*L 2L 90,000& *41%12 44,280
JxAEASY 70,0003 *41%12 34,440




SH: KRS H D
HE: S AL (M5 AD)

ool oz ey (el:de)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
2)= 2| S| 288,822
) HZ Al 160,000& x41H x12& 78,720
3) A2 &=l 110,000& x41H = 12& 54,120
3)WEE XHI 140,000& x41H x12& 68,880
3)8 & S IHy| 1,770,360& *x41x120% 87,102
2)Z224¢ 291,905
NI R Y
13,400& *40A| 2tx41H 12 263,712
LR 53,7003 * 152 x35H 28,193
2)HStHI E X2 E 25,088
3)DSsrM 448,000& *14H 42 J| 25,088
2Q)HNg SIS 35,8003 *41 «10L 14,678
DIEIRIIHA2Z2 X 4,289,631
2122 45,0003 2169 250 2,430,000
2)Jkat2 4,500& #2169 *250! 243,000
2)J)| &gt 2,430,000,000& *1/3 810,000
)Nt 22 4Y 7,870&3 %216 *10*12 203,991
Q)FRIEINEY 45,0003 216 52! 505,440
2Q)HxNgSEIFE 45,0003 2169 10 97,200
204 X2 LAY 1,571,760
01 M 3A2LHAY| 104,400
DEEE=E=EER T 104,400
2)2 4 650,000& = 12& 7,800
)22 400,000& *12& 4,800
2|88 A 350,000& = 12& 4,200
)™ K| A A 350,000& x12& 4,200
)& AAE 350,000& x12& 4,200
2)F0IME T & AE 350,000& x12& 4,200
2)sgllad A 400,000& 12& 4,800
)WE(ASALUE S SHEHEE)
100,000& *19H x12& 22,800
2)BAHAALAE(SHE AIEAE ZE)
150,000& x18H = 12& 32,400
)23 NE/Y SHETA L&
50,0003 x25H = 12& 15,000
02 M2 & x4 1,195,440
1A ZE X 1,195,440
2)2 4= 500,000& x12& 6,000
)22+ 450,000 x12& 5,400
2)J|EEBAH 400,000 *12& 4,800
)M H XA A E 400,000 x12& 4,800
2)SEAMEY 400,000& *12& 4,800
2)F 0l M T & AlE 400,000& 128 4,800




C M3 H
S MHS I (M3 D)

o o
D oE I

SA BB O () - MM - HES il
2)seI|l=dH A 400,000 x12& 4,800
2)52 250,000& x34H 123 102,000
2)62 155,000 » 188K x 12& 349,680
2)7= 140,000& *195H »12& 327,600
2)8~9= 105,000& x236H x12& 297,360
2) A AL 155,000& 5 128 9,300
)N & 250,000& x3H 128 9,000
2) NS A 155,000& 35 128 65,100
03 EZ YA 271,920 271,920
NEdG>HE S| 271,920
)2 A E G2 80,000& x3H »12& 2,880
Q)MNegddsRa 100, 000& 39 «12& 46,800
)0l Agd B RA 150,000& x4H x12& 7,200
2)H 2 syl 50,000& «350H <128 210,000
2)0igsEgdgs 100,000& x3H x12& 3,600
2)sRACME Y 60,0003 x2H x 123 1,440




